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AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;01

										          gFjp - A
ehd;F (04) fl;lha tpdhf;fs;

(nkhj;jk; 20 Gs;spfs;)

tpdh 01w;;fhd ghpe;;Jiuf;;;fg;;gl;l tpilfs; 

	 (mj;jpahak; 8 - jdpg;gl;l epjpia  Kfhikg;gLj;jy;)

a)	 Xa;T+jpa jpl;lj;jpy; Nrkpf;fg;gLk; msit ghjpf;Fk;  3 fhuzpfs; 

	 •	 xU egupd; tho;f;if ghzp

	 •	 Nrkpg;G tpfpjk;

	 •	 vj;jid gzp Mz;Lfs; kPjkpUf;fpd;wd

	 •	 jk;kpy; jq;fpapUg;gtu;fs; 

	 • 	 tl;b tPjk;

	 • 	 khjhe;j / tUlhe;j fl;lzq;fis nrYj;jf;$baj; jd;ik 

	 • 	 tho;f;if vjpu;ghu;g;G / MAw;fhyk; 
b)	 Xa;T+jpa jpl;lj;jpd; ed;ikfs;  
	 •	 Xa;T+jpaj;jpw;Fg; gpd; nryTfs; kw;Wk; epjp NjitfSf;F vspjhf guhkupj;jy; 

	 • 	 Xa;T fhyj;jpd; gpd; cq;fs; tho;f;ifapy; Vw;glf;$ba tpaj;jF my;yJ ,lu; 

kpF khw;wq;fis jtpu;j;Jf; nfhs;tjw;F 

	 • 	 jk;kpy; jq;fpapUg;gtu;fSf;F epjp ghJfhg;ig toq;Fjy;.

	 • 	 Xa;T+jpa jpl;l fzf;fpy; Fwpg;gplj;jf;f tup rYiffs;

(nkhj;jk; 05 Gs;spfs;)

tpdh 02w;;fhd ghpe;;Jiuf;;;fg;;gl;l tpilfs; 

	 (mj;jpahak;  7 - njhopw;gL  %yjd Kfhikj;Jtk;)

(05 Gs;spfs;)

,yq;if fzf;fPl;Lj; njhopy;El;gtpayhsu; fofk;

fy;tp kw;Wk; gapw;rpg; gpupT

AA3 guPl;ir – [dtup 2019           
(AA32) Kfhikj;Jtf; fzf;fPLk; epjpapaYk;

gupe;Jiuf;fg;gl;l tpilfs;

&. kpy;ypad;  31/03/2018 
njhf;F tjptpl fhyk; 365 ehl;fs; / 5 73.00 

tpahghu fld;gl;Nlhu;  tjptpl fhyk; ((50 + 60) / 2) / 220 * 365 91.25 

  164.25 

tpahghu fld; nfhLj;Njhu;  tjptpl 
fhyk; 

365 ehl;fs; / 8 (45.63) 

  118.63 

 



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;02

tpdh 03w;;fhd ghpe;;Jiuf;;;fg;;gl;l tpilfs; 

	 (mj;jpahak; 1 - ghjPl;bd; %yk; jpl;lkplYk; kw;Wk; fl;Lg;ghLk;)

a)	 kl;lf;Fwpaplypd; ed;ikfs;

	 •	 jukhd nraw;ghl;L epakq;fis  cUthf;Ftjw;fhd mbg;gilia ,J toq;FfpwJ

	 •	 ,J milaf;$ba ,yf;Ffis mikf;fpwJ

	 •	 ,J GJf; fz;Lgpbg;GfSf;F cjTfpwJ

b)	 kl;lf;Fwpaplypd; tiuaiwfs;

	 •	 xU rpwe;j top kl;LNk cs;sJ vd Fwpf;fpd;wJ.

	 •	 ,J vjpu;fhy rpf;fy;fSf;F fle;j jPu;Tfis toq;FfpwJ

	 •	 ,J xU NjLif nraw;ghlhFk; 

	 •	 ,J xg;gPl;L epWtdj;jpd; nrk;ikahd jftypy; rhu;e;Js;sJ

	 • 	 kl;lf;Fwpaply; nghUj;jkw;W NghFk; mghak; cs;sJ

(nkhj;jk; 05 Gs;spfs;)

tpdh 04w;;fhd ghpe;;Jiuf;;;fg;;gl;l tpilfs; 

	 (mj;jpahak; 3 - njhlu;Gila fpuak;  - jPu;khdk; vLj;jy;)

a)

tpw;gid tpiy  600 

(-) khWk; fpuak;    

Neu;  nghUs; 335  

Neu;f; $yp  140  

khWk; Nke;jiy  65 (540) 

gq;fspg;G  60 

 

a) 

,yhg – fdtsT tpfpjk; ; (Profit volume ratio – PV Ratio) 

PV Ratio =    gq;fspg;G     x 100  
         tpw;gid tpiy 

=  60  x 100  
        600 

=  10% 

 



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;

(nkhj;jk; 05 Gs;spfs;)

03

gpupT  A  ,d; epiwT

b)  rkg;ghl;L;g; Gs;sp (Break-even point - BEP) myFfspy 

  
BEP  =  epiyahd Nke;jiy 

                     gq;fspg;G 
 

= 55*1,020,000  
       60  
 

= 56,100,000  
               60 
 

 = 935,000 myFfs; 
 
 
 
c) ghJfhg;G vy;iy (Margin of safety - MOS) myFfspy; 

 

MOS  = ghjPl;l tpw;gidfs; - BEP tpw;gidfs;  

=  1>020>000 - 935>000 

=  85>000 myFfs; 

 



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;04

										          gFjp - B
%d;W (03) fl;lha tpdhf;fs;.

(nkhj;jk; 30 Gs;spfs;)

tpdh 05w;fhd ghpe;Jiuf;;fg;gl;l tpilfs; 

	 (mj;jpahak;  4 - ,lu;  kw;Wk; epr;rakw;w epiyikfspy; jPu;khdq;fs;)

(10 Gs;spfs;)

a) 

Nfs;tp epiy Fiw ruhrup cau; vjpu;ghu;f;fg;gl;l 
ngWkjp 

epfo;jfT 0.2  0.65  0.15   

Kftu; %yk; nghUs; tpw;gid  1,000,000  3,737,500  1,200,000  5,937,500  

Neubahf nrhe;jkhd 
cztfq;fis ,af;Fjy; 

620,000  
 

4,875,000  
 

1,842,000  
 

7,337,000  
 

Neubahf nrhe;jkhd tpw;gid 
epiyaq;fis nray;gLj;jy; 

1,079,000  
 

4,793,750  
 

1,428,900  
 

7,301,650  
 

 

 vjpu;ghu;f;fg;gl;l 
ngWkjp 

Muha;r;rp 
ntw;wpngWk; 
epfo;jfT 

vjpu;ghu;f;fg;gl;l 
ngWkjp 

Kftu; %yk; nghUs; 
tpw;gid  

5,937,500  
 

0.25  1,484,375  
 

Neubahf nrhe;jkhd 
cztfq;fis ,af;Fjy; 

7,337,000  
 

0.25  1,834,250  
 

Neubahf nrhe;jkhd tpw;gid 
epiyaq;fis nray;gLj;jy; 

7,301,650  
 

0.25  1,825,413  
 

 

b) 

Neubahf nrhe;jkhd cztfk; ,aq;Fjy; 1>834>250 

(-) re;ijia tsu;g;gjw;fhd nryT (1>050>000) 

vjpu;ghu;f;fg;gl;l epfu epjp jhf;fk;   784>250  mjpfngWkjpia Nju;e;njLf;fTk; 

Muk;g Muha;r;rpapd; mfw;wy;      400,000 

kjpg;G  

 

Fwpg;G: NkNy Fwpg;gpl;Ls;s Gs;sptp;guq;fs; vjpu;g;ghu;f;fg;gl;l ,yhgq;fisf; 
fzpf;fpd;wd. 

NkNy cs;s fzf;fPl;bd; gb> Neubahf nrhe;jkhd cztfj;ij ,af;Fjy; rpwe;j 

epjp jhf;fj;ij Vw;gLj;JfpwJ. 

 



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;05

tpdh 06w;fhd ghpe;Jiuf;;fg;gl;l tpilfs; 

	 (mj;jpahak; 1 - ghjPl;bd;  %yk; jpl;lkplYk; kw;Wk; fl;Lg;ghLk;)

(10 Gs;spfs;)

&’000 ghjPL  nefpo;Tg; 
ghjPL 

cz;ikahdJ NtWghL 

tpw;gid 
msT 

35,000 45,500/35,000*36,400  
 

36,400  
 

36,400  
 

 

tpw;gid & 45,500  47,320  
 

46,410  
 

910 gh 
 

khWk; 
fpuak;  

     

Neu;  
%yg;nghUs; 

5,250 5,250/35,000*36,400  
 

5,460  
 

5,293  
 

167 rh 

jpwikahd 
$yp  

3,500 3,500/35,000*36,400  
 

3,640  
 

3,665  
 

25  gh 

jpwikaw;w 
$yp  

16,800 16,800/35,000*36,400  
 

17,472  
 

16,758  
 

714  rh 

khWk; 
Nke;jiy 

12,250 12,250/35,000*36,400  
 

12,740  
 

12,393  
 

347  rh 

 (37,800)  (39,312)  (38,108)  
 

1203 rh 

gq;fspg;G 7,700  8,008  8,302  294  rh 

epiyahd 
cw;gj;jp 
Nke;jiy 

(5,750)  (5,750)  
 

(5,767)  
 

17 gh 

,yhgk; 1,950  2,258  2,535  277 rh 

 

* gh - ghjfkhdJ > rh – rhjfkhdJ 

 



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;06

tpdh 07w;fhd ghpe;Jiuf;;fg;gl;l tpilfs; 

	 (mj;jpahak;  3 - njhlu;Gila fpuak; -  jPu;khdk; vLj;jy; )

(10 Gs;spfs;)

gpupT  B  ,d; epiwT
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K1 218 

 

175 43 42 1 240,000 240,000 (245,700) (5,700) 

K2 225 

 

210 15 25 -10 126,000 (1,260,000) (625,000) (1,885,000) 

K3 86 68 18 12 6 400,000 2,400,000 (830,500) (1,569,500) 

 

nghUs;  K3 kl;LNk nray;gLj;Jtjw;F gupe;Jiuf;fg;gLfpwJ 

b) 

nghUs; 

 
tpw;gid 
tpiy 

 

nghJthd 
khWk;  
fpuak; 

 

Nkyjpf 
khWk;  
fpuak; 

 

gq;fspg;G 

 
msT 

 
nkhj;jk; 

 

K1 175 (140) - 35 240,000 8,400,000 
K2 210 (165) - 45 126,000 5,670,000 
K3 86 (60) (12) 14 400,000 5,600,000 
kjpg;gplg;gl;l 
nkhj;j 
gq;fspg;G 

 

     19,670,000 

(-) 
nghJthd 
epiyahd 
fpuak 

     (12,680,000) 

(-) Nkyjpf  
nrayhf;f 
epiyahd 
fpuak;  

 

     (830,500) 

kjpg;gplg;gl;l 
,yhgk; 

 

     6,159,500 

 

 



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;

										          gFjp - C
,uz;L (02) fl;lha tpdhf;fs;.

(nkhj;jk; 50 Gs;spfs;)

tpdh 08w;fhd ghpe;Jiuf;fg;gl;l tpilfs;

	 (mj;jpahak; 6 - %yjd %yq;fSk; %yjd fpuaKk;)

A)

(02 Gs;spfs;)

(02 Gs;spfs;)

(02 Gs;spfs;)

07

a)  Ke  =      D0 (1+g) + g  
P0 

 
 Ke   =   5 (1+0.1) + 0.1 x 100  

               55  
 

Ke  =  20%        

 
 
 b)  Kp = D0  
                         P0  
 

Kp   =  3.2 x 100  
              30 
 

 Kp   =  10.67%  
 
 
c)  Kd  =  K (1-T) P0 
 
  Kd  = 14 (1-0.3)  

      78 
 

 Kd   = 9.8 x 100 
                               78  
 

Kd   =  12.56%  
 



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;08

d)

B)
        a)

(mj;jpahak; 5 -  KjyPl;L kjpg;gha;T)

(03 Gs;spfs;)

%yjd %yk;  

 

re;ij kjpg;G &. 

 

%yjdf; 

fpuak; % 
%yjd fpuak;  

&. kpy;ypad;  

rhjhuz gq;Ffs; 1,320 20% 264 
Kd;Dupik 
gq;Ffs; 

225 10.67% 24 

fld;gj;jpuq;fs; 780 12.56% 98 
 2,325  386 
 

WACC   = 386 X 100  = 16.60% 
            2,325  

 

&.'000 ,ae;jpuk; njhopw;ghl;L 
gzg;gha;r;ry; 

tUkhd 
tup 

epfu 
gzg;gha;r;ry; 

%yjd nryT 

@ 15% 
,w;iw  
kjpg;G 

Y0 (12,500)   (12,500) 1.000 (12,500) 
Y1 - 7,985 (1,458) 6,527 0.870 5,675.65 
Y2 - 8,375 (1,575) 6,800 0.756 5,141.78 
Y3 - 8,955 (1,749) 7,206 0.658 4,738.06 
Y4 - 9,875 (2,025) 7,850 0.572 4,488.26 

     NPV 7,544 
 

W1 - tUkhd tup nrYj;Jjy; 
&.'000 

 
fzf;fpay; 
,yhgk;  

Nja;khdk; 

 
njhopw;ghl;L 
gz gha;r;ry; 

%yjdf; 
nfhLg;gdT 

tup,lf;$ba  
,yhgk; 

tUkhd 

tup @ 30% 
Y1 4,860 3,125 7,985 (3,125) 4,860 1,458 
Y2 5,250 3,125 8,375 (3,125) 5,250 1,575 
Y3 5,830 3,125 8,955 (3,125) 5,830 1,749 
Y4 6,750 3,125 9,875 (3,125) 6,750 2,025 

 

&.'000 ,ae;jpuk; njhopw;ghl;L 
gzg;gha;r;ry;  

tUkhd 
tup 

epfu 
gzg;gha;r;ry;  

%yjd nryT 

@ 15% 
,w;iw  
kjpg;G 

Y0 (12,500)   (12,500) 1.000 (12,500) 
Y1 - 6,475 (1,005) 5,470 0.870 4,756.52  
Y2 - 6,886 (1,128) 5,758 0.756 4,353.65  
Y3 - 7,300 (1,253) 6,048 0.658 3,976.33  
Y4 - 7,850 (1,418) 6,433 0.572 3,677.80  
Y5 - 8,280 (2,484) 5,796 0.497 2,881.64  

     NPV 7,146  
 



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;

	 b)
		  	 ,ae;jpuk; P1	 ,ae;jpuk; P2
	 MAw;fhyk;	 4 Mz;Lfs;	 5 Mz;Lfs;

	 NPV		 7,544	 7,146
	 tUlhe;jpu fhuzp @ 15%	 2.855	 3.352
	 AEV		 2,642.32	 2,131.74

c)	 ,ae;jpuk; P2 cld; xg;gpLk;NghJ ,ae;jpuk; P1 cau;e;j AEV I cUthf;Fk; vd;gjhy; 

NkNy fzf;fpl;bd; gb  ,ae;jpuk; P1  I Nju;T nra;a gupe;Jiuf;fg;gLfpwJ. 

tpdh 09w;fhd ghpe;Jiuf;fg;gl;l tpilfs;

	 (mj;jpahak; 2 - cau; Kuz;fspDlhf jpl;lkplYk; fl;Lg;gLj;jYk;)

A)   a)
i)	 tpw;gid tpiy Kuz; 	 =  cz;ikahd tpw;gid msT (cz;ikahd tpw;gid 

					       tpiy x  epak tpw;gid tpiy)
			   S 		  = 23,630 (3,300 - 3,420) = 2,833,600  rh
			   Q 		  = 14,780 (5,500 - 5,380) = 1,773,600 gh 
					     = 1,062,000 rh

ii)
	 tpw;gid fyit Kuz; 	 =  epak tpw;gid tpiy ( (cz;ikahd tpw;gid msT x 	
				            epak fyit) – (cz;ikahd tpw;gid msT x 
					       cz;ikahd fyit))
			   S 		  = 3,300 [38,410 x (25,000/40,000) - 38,410 x (23,630/38,410)] 
					     = 3,300 (26,006.25 - 23,630) 	 = 1,241,625 gh 
			   Q 		  = 5,500 [38,410 x (15,000/40,000) - 38,410 x (14,780/38,410)] 
					     = 5,500 (14,403.75 - 14,780) 	 = 2,069,375 rh

	 tpw;gid fyit Kuz; 	 = 2,069,375 - 1,241,625 
					     = 827,750 rh

09

(12 Gs;spfs;)

(03 Gs;spfs;)

(01 Gs;spfs;)
(nkhj;jk; 25 Gs;spfs;)

(02 Gs;spfs;)

(04 Gs;spfs;)

W1 - tUkhd tup nrYj;Jjy; 

&.'000 fzf;fpay; 
,yhgk;  

Nja;khdk; njhopw;ghl;L 
gz gha;r;ry; 

%yjdf; 
nfhLg;gdT 

tup,lf;$ba  
,yhgk; 

tUkhd tup 

@ 30% 

Y1 3,975 2,500  6,475   (3,125)  3,350  1,005 
Y2 4,386 2,500 6,886 (3,125) 3,761 1,128 
Y3 4,800  2,500  7,300  (3,125) 4,175 1,253 
Y4 5,350  2,500  7,850  (3,125) 4,725 1,418 
Y5 5,780  2,500  8,280   8,280 2,484 

  



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;10

b) 

(mj;jpahak; 2 - cau; Kuz;fspDlhf jpl;lkplYk; fl;Lg;gLj;jYk;)	

•	 cw;gj;jpw;F cau;jug; %yg;nghUs; gad;ghL / Fiwe;jgl;r cw;gj;jpj; jilfs; 

•	 	cau;jug; %yg;nghUs; nfhs;Kjy; / re;ijapy; nghJ tpiy mjpfupg;G 

•	 	jpwikaw;w Copau; gad;ghL / cw;gj;jpj; jilfs;

B)    a)

(mj;jpahak;  3 - njhlu;Gila fpuak;  - jPu;khdk; vLj;jy; )

iii)	 tpw;gid msT Kuz;		 = epak tpw;gid tpiy ((nkhj;j epak tpw;gid msT x 
					        epak fyit) – (nkhj;j cz;ikahd tpw;gid msT x 
					        epak fyit))
			   S 		  = 3,300 [40,000 x (25,000/40,000) - 38,410 (25,000/40,000)] 
					     = 3,300 (25,000 - 24,006.25) 	 = 3,279,375 gh
			   Q 		  = 5,500 [40,000 x (15,000/40,000) - 38,410 x (15,000/40,000)] 
					     = 5,500 (15,000 - 14,003.75) 	 = 3,130,875 gh

	 tpw;gid msT Kuz; 	 = 3,130,875 (gh)  + 3,279,978 (gh)
                                                   		  = 6,410,250 (gh)

iv)	 tpw;gid ngWkjp Kuz; 	 = 1,062,000 (rh) + 827,750 (rh) - 6,410,250 (gh) 
					     = 4,520,500 gh

(04 Gs;spfs;)

(04 Gs;spfs;)

(02 Gs;spfs;)

(03 Gs;spfs;)

 
nghUs; 

 
Nfs;tp 

 
jpwikahd  Copa 

kzpj;jpahyq;fs;  (SL) 
nkhj;jk; 

T1 14,500 0.80 11,600 
T2 26,000 0.60 15,600 
T3 42,000 0.30 12,600 
nkhj;j jpwikahd  Copa 
kzpj;jpahyq;fs; Njit 

  39,800 

nkhj;j jpwikahd  Copa 
kzpj;jpahyq;fs; Njit 

  40,000 

kpif   200 
 

nghUs; 
 

Nfs;tp 
 

jpwikaw;w  Copa 
kzpj;jpahyq;fs; 

nkhj;jk; 

T1 14,500 1.50 21,750 
T2 26,000 0.80 20,800 
T3 42,000 0.70 29,400 
nkhj;j jpwikaw;w Copa 
kzpj;jpahyq;fs; Njit 

  71,950 

nkhj;j jpwikaw;w  Copa 
kzpj;jpahyq;fs; fpilg;gdT 

  65,000 

Fiw   6,950 
 



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;11

(06 Gs;spfs;)
(nkhj;jk; 25 Gs;spfs;)

gpupT  C  ,d; epiwT

 T1 T2 T3 
tpw;gid tpiy 7,400 4,500 3,100 
(-) khWk;  fpuak;     
Neu; nghUs; 3,470 2,160 1,185 

jpwikahd $yp @ 300 / - 240 180 90 

jpwikaw;w $yp  @ 240 / - 360 192 168 
khWk; Nke;jiy 345 210 150 
 4,415 2,742 1,593 
gq;fspg;G 2,985 1,758 1,507 
 1.50 0.80 0.70 
xU myF jpwikaw;w  Copa 
kzpj;jpahyq;fSf; fhd gq;fspg;G 

1,990.00 2,197.50 2,152.86 

jutupir 3 1 2 

 

b)

nghUs; 

 

nghUs; 
jahupg;G jpl;lk; 

jpwikaw;w  Copa 
kzpj;jpahyq;fs; 

nkhj;jk; 

T1 9,866.67 1.50 14,800 

T2 26,000 0.80 20,800 

T3 42,000 0.70 29,400 

nkhj;j jpwikaw;w Copa 
kzpj;jpahyq;fs; Njit 

  65,000 

nkhj;j jpwikaw;w Copa 
kzpj;jpahyq;fs; Njit 

  65,000 

 



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;

Notice : 

These answers complied and issued by the Education and Training Division of AAT Sri Lanka 
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designs especially for the benefit of those students who are engaged in self-studies. These are 
intended to assist them with the exploration of the relevant subject matter and further enhance their 
understanding as well as stay relevant in the art of answering questions at examination level.
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